EARAROBEEIERT — 2 N— IBISH —F

2018F1A11A (k) 9mE#I3H

B> cs3

EEE R

[A~&£] 17 :800,000  ~ 23 :280,000 3 ~ 33 :160,000 M ~ 43 :120,000 @ 5 7 :80,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- = . el F A :33. 02— . — sy Geagn)
11717 ITAT AT A 4 ;6.0 1(:?)7 r222 | 39.8 8 :?13) MEMK
R:F4—=TA4>nN7 b B:X¥vE-Xd-LFo¥vib "HET77— L4
S S AR X :34. -1-1- . - IVAEE (GEFD)
2055 K w o2k 44 e 1(324)1 1=1-1-1 | 40.3 2 (4+718) ;,A\EIE
Rix4yavR—3— B:7U—-vyL wE 2
. P BAE : —4-5- - TFILES (GaFn)
N ESS Y > 4| fEAE (12314/26) 3-4-5-3 | 40.5 1 :(1)3) ol
R:Fh¥=71248 B:IINITE-L al=sbae]
. . o4 | BoTHER 1:34.9 4-3-3-4 | 40.8| — 7 499 BRAN (GAF)
4 H 8 HoTILNE— 56.0 (11/2) 1) FEFA
R:hE=Xa—F— B:HTINAN—JL HR4%
i L — 4 | BWEF 1:35.0 7-7-4-6 | 40.8| — 5 409 | NIIA4RE (GE#0)
sPN 4| TV—HTrAT 54.0 (179) (s | ) EPuR
Rib—trkwLAY BIN—FRE— RESS
BPETE 4 4 | BERE 1:35.1 6-6-7-7 |40.6 | — 8 483 | BH—RI (AN
66 7RT1TEH> 56.0 (7€) (cg) | R
R:bh—t>hvLRY B:Za-95>Y J—HrTp—L
R N ATHER :35. ~5-6- . - BO—RK (aFn)
) B R N
L:ZgrT bt —Tr—FK=FK B:I 5277t EARE #F
IR iEZ NP : —8-8- — SEEE (A
glil1|2H17U £ i 4 s 1(/7351:) 8-8-8-8 | 39.7 4 :?;) s
K:AO-I>7U> BNAX—> R4S
® I —F—@EBIERL
13=zr= 5,7,3,8,2,6,4,1
Aol=5r= 5,7,8,3,2,6,4,1
G§a=7r= 5,7,8,4,3,2,6,1
43—+ — 5,7,3,8,2,4,6,1
[ RN
B OB 7 460M 714K 5-7 180H B E 5-7 420M &R 3-5-7 320M
8 B 7 120/ 3-7 210 B H = 1,060M JEH == 2,170/
5 1204 3-5 160M
8 110

ABICOVWTRDTEEERROODE. TR LIV,




